

Уваров А.А. - ЗПЗ-247

Баp ~~51~~ 52

4. (x_1, \dots, x_n)

$$p(x|\alpha) = \frac{\alpha}{x^{\alpha+1}}, \quad x \geq 1$$

$$L = \ln \prod_i p(x_i|\alpha) = \ln \prod_i \left(\frac{\alpha}{x_i^{\alpha+1}} \right) =$$

$$= \sum_i \left(\ln \alpha - \ln(x_i) \cdot (\alpha+1) \right) =$$

$$= n \ln \alpha - \left(\sum_i \ln(x_i) \right) (\alpha+1)$$

$$\hat{L}_{ML} = \operatorname{argmax}_{\alpha} L(\alpha | \bar{x})$$

$$L' = \frac{n}{\alpha} - \sum_i \ln x_i = 0$$

$$\alpha^* = \frac{n}{\sum_i \ln x_i}$$

$$L'' = -\frac{n}{\alpha^2} < 0 \quad \forall \alpha$$

$$\hat{L}_{ML} = \frac{n}{\sum_i \ln x_i}$$

3. z_1, z_2, z_3 ~~MM~~

$$p(z) = Az, \quad 0 \leq z \leq 2$$

$$A \int_0^2 z \, dz = 1 \Rightarrow A = \frac{1}{2}$$

$$p(z) = \frac{z}{2}$$

$$\max\{z_1, z_2, z_3\} =$$

$$P_{\max}(z) = 3 \binom{2}{2} F^2\left(\frac{z}{2}\right) \cdot p\left(\frac{z}{2}\right)$$

$$P(\max\{z_1, z_2, z_3\} \leq z) = P(z_1 \leq z) P(z_2 \leq z) P(z_3 \leq z) \\ = F^3(z)$$

$$P_{\max}(z) = 3 F^2(z) \cdot p(z)$$

$$F(z) = \int_{-\infty}^z p(z') \, dz' = \begin{cases} 0, & z < 0 \\ \frac{z^2}{4}, & z \in [0; 2] \\ 1, & z > 2 \end{cases}$$

$$P_{\max}(z) = \begin{cases} \left(\frac{z^2}{4}\right)^2 \cdot 3 \cdot \frac{z}{2}; & 0 \leq z \leq 2 \\ 0, & \text{otherwise} \end{cases}$$

$$\langle \max \{z_1, z_2, z_3\} \rangle = \int_0^2 z \cdot \frac{3}{32} z^5 dz =$$

$$= \left. \frac{z^7}{7} \cdot \frac{3}{32} \right|_0^2 = \frac{2^7 \cdot 3}{7 \cdot 2^5} = \frac{12}{7}$$

$$\langle \max^2 \{z_1, z_2, z_3\} \rangle = \int_0^2 z^2 \frac{3}{32} z^5 dz =$$

$$= \left. \frac{z^8}{8} \cdot \frac{3}{32} \right|_0^2 = \frac{2^3 \cdot 3}{8} = 3$$

$$\sigma_{\max}^2 = \langle \max^2 \rangle - \langle \max \rangle^2 = 3 - \frac{144}{49} =$$

$$= \frac{3}{49}$$

$A = \frac{1}{2}$ $\sigma_{\max}^2 = \frac{3}{49}$ $\mu_{\max} = \frac{12}{7}$

u2. $\vec{z} = (z_1, z_2) \in \mathcal{M}$

$$\langle z_1^4 \rangle = 12; \langle z_2^6 \rangle = 15; \langle z_1^2 z_2^4 \rangle = 70$$

cov - ? $\langle \bar{x} \rangle = 0$

$$\langle z_1^4 \rangle = \langle z_1 \cdot z_1 \cdot z_1 \cdot z_1 \rangle =$$

$$= \langle z_1 z_1 \rangle \langle z_1 z_1 \rangle + \langle z_1 z_1 \rangle \langle z_1 \cdot z_1 \rangle + \langle z_1 \cdot z_1 \rangle \langle z_1 z_1 \rangle$$

$$\stackrel{=}{=} 3 \langle z_1^2 \rangle^2 = 12$$

$$\langle z_1^2 \rangle = \pm 2$$

$$\langle z_2^6 \rangle = \langle z_2 z_2 \rangle \langle z_2 z_2 \rangle \langle z_2 z_2 \rangle + \dots =$$

$$= 5 \langle z_2^2 \rangle (\langle z_2 z_2 \rangle \langle z_2 z_2 \rangle \cdot 3) =$$

$$= 75 \langle z_2^2 \rangle^3 = 75$$

$$\langle z_2^2 \rangle^3 = 75 \Rightarrow \langle z_2^2 \rangle = 75^{1/3}$$

$$\langle z_1^2 z_2^4 \rangle = \langle z_1 z_1 \rangle \cdot 3 \langle z_2^2 \rangle^2 +$$

$$+ 4 \langle z_1 z_2 \rangle (\langle z_1 z_2 \rangle \langle z_2 z_2 \rangle \cdot 3) =$$

$$= 3 \underbrace{\langle z_1^2 \rangle}_{\pm 2} \underbrace{\langle z_2^2 \rangle^2}_1 + 12 \langle z_1 z_2 \rangle^2 \underbrace{\langle z_2^2 \rangle}_1 = 10$$

$$\pm 6 + 12 \langle z_1 z_2 \rangle^2 = 10$$

$$12 \langle z_1 z_2 \rangle^2 = 4$$

$$12 \langle z_1 z_2 \rangle^2 = 16$$

$$\langle z_1 z_2 \rangle = \pm \sqrt{\frac{1}{3}}$$

$$\langle z_1 z_2 \rangle = \pm \sqrt{\frac{4}{3}}$$

$$\hat{C}(\bar{z}) = \begin{pmatrix} E[z_1^2] - 0 & E[z_1 z_2] - 0 \\ E[z_2 z_1] - 0 & E[z_2^2] - 0 \end{pmatrix}$$

2 балла
ИПЗ-241
BAP-52

1) $E[z_1^2] = 2$

$$E[z_2^2] = 1$$

$$E[z_2 z_1] = \pm \sqrt{\frac{1}{3}}$$

2) $E[z_2^2] = 1$

$$E[z_1^2] = -2$$

$$E[z_2 z_1] = \pm \sqrt{\frac{4}{3}}$$

7. $\hat{C} = \begin{pmatrix} 4 & 1 \\ 1 & 2 \end{pmatrix} \Rightarrow \begin{cases} E[X^2] - E[X]^2 = 4 \\ E[XY] - E[X]E[Y] = 1 \\ E[Y^2] - E[Y]^2 = 2 \end{cases}$

$$z = X \cos \varphi + Y \sin \varphi$$

$$V = Y \cos \varphi - X \sin \varphi$$

- некоррелированы

$\text{cov}(z, V)$

$$E[zV] - E[z]E[V] = 0$$

$$E[zV] = E[z] \cdot E[V]$$

$$E[(X \cos \varphi + Y \sin \varphi)(Y \cos \varphi - X \sin \varphi)] =$$

$$= E[XY \cos^2 \varphi - X^2 \cos \varphi \sin \varphi + Y^2 \sin \varphi \cos \varphi - YX \sin^2 \varphi]$$

$$E[z] = E[X \cos \varphi + Y \sin \varphi] = \cos \varphi E[X] + \sin \varphi E[Y]$$

$$E[V] = E[Y \cos \varphi - X \sin \varphi]$$

2/2

$$\begin{aligned}
 E[Z]E[V] &= \cos^2 \varphi E[X]E[Y] + \sin \varphi \cos \varphi \cancel{E[X]E[Y]} + E[X]^2 \cos \varphi \sin \varphi (-1) + E[X]E[Y] \sin^2 \varphi (-1) = \\
 &= E[X]E[Y](\cos^2 \varphi - \sin^2 \varphi) + \cancel{E[X]E[Y]} + \sin \varphi \cos \varphi (E[Y]^2 - E[X]^2)
 \end{aligned}$$

$$\begin{aligned}
 E[ZV] &= E[XY](\cos^2 \varphi - \sin^2 \varphi) + \\
 &+ \cos \varphi \sin \varphi (\cancel{E[X]E[Y]} E[Y^2] - E[X^2]) \\
 &\text{используя } E[X]E[Y] \quad E[ZV] = E[X]E[Y] \\
 &= (E[XY] - E[X]E[Y])(\cos^2 \varphi - \sin^2 \varphi) + \\
 &+ \cos \varphi \sin \varphi (E[Y^2] - E[Y]^2 - (E[X^2] - E[X]^2)) = 0
 \end{aligned}$$

$$\boxed{\cos^2 \varphi - \sin^2 \varphi - 2 \cos \varphi \sin \varphi = 0}^4$$

$$\cos(2\varphi) - \sin(2\varphi) = 0$$

$$\cos \Theta = \sin \Theta$$

$$\operatorname{tg} \Theta = 1$$

$$\begin{aligned}
 \Theta &= \frac{\pi}{4} + 2\pi n \\
 \Theta &= \frac{5\pi}{4}
 \end{aligned}$$

$$\Theta = \frac{\pi}{4} + \pi n, \quad n \in \mathbb{Z}$$

$$\boxed{\varphi = \frac{\pi}{8} + \frac{\pi n}{2}, \quad n \in \mathbb{Z}}$$

$$\sigma_z^2 = \langle z^2 \rangle - \langle z \rangle^2 =$$

$$= \langle (x \cos \varphi + y \sin \varphi)^2 \rangle - \langle x \cos \varphi + y \sin \varphi \rangle^2 =$$

$$= \langle x^2 \rangle \cos^2 \varphi + \langle y^2 \rangle \sin^2 \varphi + 2 \langle yx \rangle \cos \varphi \sin \varphi -$$

$$- \langle x \rangle^2 \cos^2 \varphi - \langle y \rangle^2 \sin^2 \varphi - 2 \cos \varphi \sin \varphi \langle y \rangle \langle x \rangle =$$

$$= 4 \cos^2 \varphi + 2 \sin^2 \varphi + 2 \cos \varphi \sin \varphi =$$

$$= 2 (2 \cos^2 \varphi + \sin^2 \varphi + \cos \varphi \sin \varphi)$$

$$\sigma_v^2 = \langle v^2 \rangle - \langle v \rangle^2 =$$

$$= \langle y^2 \cos^2 \varphi + x^2 \sin^2 \varphi - 2yx \cos \varphi \sin \varphi \rangle -$$

$$= \langle y^2 \rangle \cos^2 \varphi - \langle x \rangle^2 \sin^2 \varphi + 2 \cos \varphi \sin \varphi \langle x \rangle \langle y \rangle =$$

$$= \cos^2 \varphi \cdot 2 + \sin^2 \varphi \cdot 4 - 2 \cos \varphi \sin \varphi =$$

$$= 2 (\cos^2 \varphi + 2 \sin^2 \varphi - \cos \varphi \sin \varphi)$$

$$G_z^2 = 2 (2 \cos^2 \varphi + \sin^2 \varphi + \cos \varphi \sin \varphi)$$

$$G_v^2 = 2 (\cos^2 \varphi + 2 \sin^2 \varphi - \cos \varphi \sin \varphi)$$

$$\varphi = \frac{\pi}{8} + \frac{\pi n}{2}; \quad n \in \mathbb{Z}$$